




Rational Graphs: Day 1

I. For each state the domain, holes, vertical asymptote(s), horizontal asymptote, y-intercept, 

x-intercept(s).   Do not graph.
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II. Given the following information, sketch a graph.
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Rational Graphs: Day 2
I.  For each state the domain, holes, vertical asymptote(s), horizontal asymptote, y-intercept, 
x-intercept(s).  Do not graph.
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II. For each state the domain, holes, vertical asymptote(s), horizontal asymptote, y-intercept, x-intercept(s) and then sketch a graph.
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III. Given the following information, sketch a graph.
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Rational Graphs: Day 3

 For each state the domain, holes, vertical asymptote(s), horizontal asymptote, y-intercept, x-intercept(s) and then sketch a graph.
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